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support of Senator Warner's amendment to 1059. T he issue i s o n e
of do we fund it at a level that we feel is appropriate,or do
we, as Senator Noore is going to explain on his time, phase in
the proposal. I have no problem with the increase that Senator
Warner would put in place with his amendment and the income tax
to take effect for one-half of the year, which would basically
double up the withholding„ but r aise t he mo n e y so t hat t h e
program that I feel is very important that we have s pent t w o
years on, or that the commission has spent two yea r s on , and
this finally coming to fruition here on the floor. I f we ' r e
going to do it, it is not something that I have, to date,
thought about phasing in. I think that strictly based on some
of tne things that we' re going to be faced in the n ext si x t o
eight months, with regard to court action and the case that very
likely will go before the Supreme Court dealing with our school
financing system, that the Warner amendment, which would let the
implementation of LB 1059 take effect and put it in full force
January 1 of 1991, is a very good amendment, and one that all it
basically does, I think, is clean up provisions that to date,
because of shortfalls in revenue, for no other reason than that
we need to enact this amendment to the bill. I would u r g e y o u r

S PEAKER BARRETT: T h an k y o u . Senator Noore, followed by Senator

SENATOR MOORE: Ye s, Nr. President. I n res p onse t o Sena t o r
W arner' s que s t i o n , I thought I had the answer. I want t o
confirm a little bit. The way the equalization f ormula w o r k s ,
i t ' s based off income data of previous years. So, t h e r e f o r e ,
what you would do, if you do not pass the Warner amendment, you
w ould amend the A b i l l dow n , whatever amount would be necessary,
70 million dollars, 50 million dol l a r s , yo u kn o w , 7 0 m i l l i o n
dol l a r s i f we d on ' t . ..if...truly in the fund itself would be
70 million dollars. I f there is some money there, it would be
something less than that. But, if you would do that, let's say
you do that, you amend the A bill down by 70 million dollars,
you decrease the amount of pool i n t h e eq u al i z a . . .t h e money
available in the equalization pool, you know, by. . .down to a b ou t
200 million dollars is what it amounts to. Two hundred and
sixt y i s w h a t 's i n t he r e n o w , 1 9 0 m i l l i on , whatever it is. S o,
you'd have less amount distributed on the equalization formula.
The formula, no matter where you have the income tax rate go
into effect, the formula is based off of income data of past
years. So that income...I mean it's not like the f ormula wi l l

Hefner .

11456


